Notes 1.1 (1819) 3a.notebook September 13, 2018

1-1 Exploring Transformations
f(x) = a(b(x - h)) + k

Translations
o The shape and size of the parent graph stays the same.
o The entire graph just changes position.
o Translations are also known as “shifts” and can occur horizontally or vertically.

(x)= f(x)+4 W)= £(x)-1
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Reflections
e The shape and size of the parent graph stays the same.
o A reflection is the mirror image of a graph over the x- or y- axis.
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Stretches and Compressions
o Cause a distortion in the shape of the parent graph.
o Stretchpulls the graph away from the axes.
e Compressionpushes the graph towards the axes.
Sx)=x* glx)=2/(x) Hx)=3 1(x)
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INPUT
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fix - h)

fanN

if4r 9reph
Shi fW?HJ
h>b —>right
h<0— /left

Xﬁ/)% (x+ I"1\/.

Vhor) zontal Translatin: vert i cal Frens
shiftr 978

/< N fr

Wkl o 5o 5 Up
/<<O > down

(x, )= (% \+K)

7

f-x)

{lection .
rai nlec\/_%\x/s

(y) ¢4y

-f(x)

g-ﬂg(_-(’ib”,
( in )(_A)(lf

()()\/)»7 (X)Y)

fibx)

< or

Co:m:ressi on

Stretchh
()5, y

2onte\ strotchh

[b] > > horizontal

|L} <) worrontel o)

Jaf>1 2verics
Stredch

Jaf <1 =veice
compre SSIN

) [0ar)= (4 8y)

ertical ghetchfeomp

T
~

be compreSSion by &

-Fo\({-Or of l/l:>

b\/ & factoc of &

September 13, 2018




Notes 1.1 (1819) 3a.notebook September 13, 2018

Use a table to perform each
transformation of y=f(x).

(A) horizontal compression by a
factor of 0.5

2 (B) translation 3 units up

—41 (C) reflection across the x-axis
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